ERk3154R 48 FEt SHxTESR 58 Rit SHTE6H 68 Rit

#® W HnE XBIELE HE pof-IE: e HE POf-IE:d HE XA L HE XA L HE pof-IE:xd
kg % kg % kg % kg % kg % kg %
L & 2,844,087 100.8 2,844,087 100.8 2,636,634 96.0 5,315,911 951 2,668,165 101.2 7,984,076 99.2

INIIN—F—I8TF 4 Z % 96 — 96 — 0 — 0 — 0 — 0 —
& i 2,844,183 100.8 2,844,183 100.8 2,636,634 96.0 5,315,911 951 2,668,165 101.2 7,984,076 99.2

£+ % 0 — 0 — 0 — 0 - 0 — 0 —
FILRNIN—T A T—F% z % 141,453 106.8 141,453 106.8 142,216 101.8 276,043 98.6 137,301 96.5 413,344 100.3
& &t 141,453 106.8 141,453 106.8 142,216 101.8 276,043 98.6 137,301 96.5 413,344 100.3

L & 0 — 0 — 0 — 0 — 0 — 0 —
FILRE—rR—JL z % 216 — 216 — 514 92.8 926 167.1 418 81.3 1,344 242.6
& i 216 — 216 — 514 92.8 926 167.1 418 81.3 1,344 242.6




SHTETR IEES! SHITESH 8H R&t SHITEIR 98 A&t
7 1A % E SR L ¥ = XTRTEELE ¥ E XTRTEELE ¥ E SR LE H = SR L H = STHIELE
kg % kg % kg % kg % kg % kg %
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SHITEI08 108 R&t SHTEI1A NEGER SHITE128 128 B85t

% o= STRTEELE =2 STRITEE L #H =2 STRITEE L #H =2 STRITEE L H = STRITEE L #H = SR L

kg % kg % kg % kg % kg % kg %
I %
NDIN—H—I\T4 2%
& i
+ %
FILRNYN—TRTF—F% |8 #
& &t
I %
FILEE—hR—)L = %

=1
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% = STRTEELE =2 STRITEE L = STRITEE L #H =2 STRITEE L H = STRITEE L #H = SR L

kg % kg % kg % kg % kg % kg %
I %
NDIN—H—I\T4 2%
& i
+ %
FILRNYN—TRTF—F% |8 #
& &t
I %
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